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Note: (i) You must write the subject-code/ paper-code 05/B in the box provided on the

title page of your answer-book. https://www.punjabboardonline.com

(ii)  Make sure that the answer-book contains 24 pages (including title page) and
are properly serialled as soon as you receive it.

(iii) Question/s attempted after leaving blank pagels in the answer-book would not
be evaluated.

(iv) All questions are compulsory.

(v) Answer should be brief and t

required.

Multiple Choice Questions :
17x1=17

One Mark Questions :
1. Food cans are coated with tin and not wit 1

(a) Zinc is costlier than tin.
(b) Zinc has higher melting point than tin.

7inc is more reactive than tin.

o the point. Draw labelled diagram where

h zine, because

(c)
(d) Zincis less reactive than tin.
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2. Butanone is a four carbon compound with the functional group : 1

(a) Carboxylic acid (b) Aldehyde
(e) Ketone (d) Alcohol |

3. What is the basis of Modern Periodic Table ? 1
(a) Atomic Number (b) Mass Number
(¢) Nucleus (d) Neutron

4. The xylem in plants is responsible for : 1
(a) Transport of water (b) Transport of food
(¢) Transport of amino acids (d) Transport of oxygen

5. Plant hormoneis: I
(a) Insulin (b) Thyroxine (c¢) Estrogen (d) Cytokinin

6. Nephron (basic filtration unit) is present in I
(a) Lungs (b) Stomach (¢) Kidneys (d) Heart

7. Sex chromosomes present in males are : 1
(a) XY (b) XX
(¢c) YY (d) None of these

8. The plant used by Mendel to study inheritance of traits is : 1
(a) Rose (b) Pea
(¢) Amla (d) Banana

9. Which of the following lens would you prefer to use while reading small letters
found in a dictionary ? ]
(a) A convex lens of focal length 50 cm
(b) A concave lens of focal length 50 cm
(¢) A convex lens of focal length 5 cm

(d) A concave lens of focal length 5 cm

10. What will be the focal length of a convex mirror whose radius of curvature is

32 cm ? 1
(a) 64 cm (b) 8cm (c) 16 cm (d) 30 cm

11. Which of the following is not an example of bio-mass energy source ? 1
(a) Wood (b) Gobar gas
(¢) Nuclear energy (d) Coal

12. Which energy is not obtained from the sea ? 1
(a) Tidal Energy (b) Wave Energy
(¢) Ocean Thermal Energy (d) Geothermal Energy

05/B-X 10

(3 scanned with OKEN Scanner



18, Which of the following conatitute a fuod ohain ? i

n) ,
' l:‘“"‘“l“"“ ad mango th)  CGrass, goat and human
¢ ;
Mt cow and olephant () Graaw, finh and goat
14, Who are the atakeholders for the conservation of foreats ? !
() People who live around foreata
(M Industrinlists
() Foreat Dopartment of Government
() All of the above
18, Following oquation i an example of 2 AgCls) Sunlight o Agln) + Cly(g) l
) Combination Renetion (bY  Decomposition Reaction
() Displacement Reaction (d)  Double Displacement Reaction
16.  Which type of acid is presont in ant's sting I
<@ Acetic acid ) Lactie neid
() Citrwe aand () Methanoie acid
17.  What is the common name of compound CaOClL, ? I
W) Lame water (b))  Gypsum
(¢} Bleaglung powder () Washing sodn
.
Two Marks Questions : 12x2=24
18. State Flemung's Left-Hand Rule. 2
19. Why does the sky appear dark instead of blue to an astronuul ? 2
20. Why do we prefer a convex mirror as a rear view mirror in vehicles ? 2
21. Explain the terms homologous and analogous organs with examples. I+1=2
. i +)
22. Why is the use of iodised salt advisable ? -
. )
93. @Give reason why the noble gases are placed in n separate group. c
. 98 ‘ ) W » [+1=2
94. What is Homologous Series 7 Explain with an example.
9D
26. Write two important uses of buking soda.
:.]
96. Write a note on Rancidity.
in vour home in order to be
27. What two changes would you suggest . 9
vlwirnnnmlﬂ.-fl‘il‘ﬂdl.‘f ? ible ?
. "o ou would consider to be exhaustible -
98. Give names of two energy sources that y 142
- Give reasons for your ENOICEs. _ 2
" *an ideal source of energy.
29. Mention any two qualities of an ideal
11 [Turn over
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Three Marks Questions : | 8x3=84

30. What is hy'pormotropia 7 Make n dilﬂ'l‘ﬁm to 'show how hyp'rmgtropi‘ 8
corrected. . 142=3
81. Why are decomposition reactions called the opposite of combination reactions ? i
Write equations for these reactions. 14141=3 :
32. Explain the mechanism of the cleaning action of soaps. 3 .
38. Write'elactrnnic C““ﬁﬂ'“f'atinn of Nitrogen (atomic number 7) and Phosphorus
(atomic number 15). Which of these is more electronegative and why 7 I1+1+1=3
84. Give any three differences between acrobic and anacrobic respiration. 3
85. Draw structure of neuron and explain its function. 2+41=3
36. What is biological magnification ? Will the levels of this magnification be
different at different levels of the ecosystem ? 2+1=3
37. Define .Hnlvnnid. How does n solenoid behave like a magnet ? Can you
determine the North and South poles of a current carrying solenoid with the
help of a bar magnet ? 1+141=3
Five Marks Questions : 9%5=15
38. Three parallel resistors having resistances 5€Q, 104, 30 Q respectively are
connected to a battery of 12 V. Calculate : 3+1+1=5
(a) Current through each resistor 3
(b) Total current in the circuit 1
(c) Total resistance in the circuit 1
OR
On what factors does the resistance of a conductor depend ? Give equation to
. explain it. Define resistivity also. 34+1+1=5
39. Give differences bhetween motals and non-metals on the basis of any two
physical and three chemical properties. 2+3=5
OR
(a) State two ways Lo prevent the rusting of iron.
(b) Give an example of a metal which
(1) 1s liquid at room temperature.
(i)  can be casily cut with the help of knife.
(iii)  is the best conductor of heat. 2+3=5
40. Draw a labelled diagram of the longitudinal section of a flower and explain it. 3+2=5
OR
(a) Write two advantages of sexual reproduction over asexual reproduction 2
(b) Write any three methods of contraception. v
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